Slot Cars
1/32Nnd scale

LOLA

/70O MKIII

CAOO103S/W
E. Leslie - L. Motschenbacher
Daytona 24 Hours 69




N N NN Y

N7 NS N N N

CAOO1KS/W

LOLA T70 MKIIl complete body kit which goes
with the complete running chassis with S/W
MACH21 motor

BOKOO1
LOLA T70 MKIIl complete white body kit.

COKOO1
Lola T70 MKIII cockpit kit.

ENKOO1
LOLA T70 MKIII engine exhaust kit.

HWKOO1
Lola T70 MKIII windows & head lights Kkit.



N N NN Y

N7 NS N N N

CHSO001B
Lola T70 MKIII soft black chassis.
It is the standard chassis installed on the car.

CHSO0O01G
Lola T70 MKIII hard grey chassis.
It goes as an option for faster tracks.

CHSO0O1S

Lola T70 MKIII stiff dark grey chassis.

Made of a special compound like carbon fiber for
very fast tracks.

MTSO0O0O1B

Soft black motor support.

It is the standard S/W support for the Mach 21 type
motor installed on the car.

MTSOO1G

Hard grey S/W motor support.

It goes as an option for the Mach 21 type motor for
more accurate style of driving on faster tracks



N/ N N N

N N N N

MTSOO0O1S

Stiff dark grey S/W motor support.

It goes as an option for the Mach 21 type motor for
very precise style of driving on fast tracks.

Special compound equivalent to fiber carbon.

MTSO002B

Soft black A/W motor support.

It goes as an option for the Storm 22 type motor
(Boxer type).

MTS002G

Hard grey A/W motor support.

It goes as an option for the Storm 22 type motor
(Boxer).

MTSO002S

Stiff dark grey A/W motor support.

It goes as an option for the Storm 22 type motor
(Boxer type).

Special compound equivalent to fiber carbon.

MTMACH21
12Volts -21500 rpm and 175g/cm motor standard
for our classic cars.



N N NN Y

N7 NS N N N

GE32SWP
spur plastic gear with 32teeth and 17mm diameter.
Fixing screw of 4/40” or 2.5mm.

PN11PL
plastic pinion 11 teeth, dia. 7mm. (2 pcs).

BBBOO1
bronze bush bearing for 3/32" axle.

AXLOO1
steel axle 2.38mm.(3/32")x49mm. (2 pcs).

RMROO1AL
alu rear rims 14.30 x 10 mm. (4/40" allen screw).



N N NN Y

N7 NS N N N

RMROOZ2AL

Aluminum rear rims 14,9 x 10 mm.
hexagonal screw M2,5

(need the same tool as for the 4/40” screws)

RMRFMOO1

sponge rings (9 x 14 mm.) to fit between the rim's
ribs to keep the soft tyres “inflated” and enlarge
the rims diameter up to 16mm.

This is something very innovative !

RMFOO1PL
nylon light weight front rims dia 14 x 9 mm.

TYCOO1FR
Classic threaded hard front tyres 9 x 18 mm.

TYROO3FR
hard low friction front tyres 9 x 16 mm.



N N NN Y

N7 NS N N N

TYCOOZ2R
Classic threaded rear tyres 10.8 x 19.2 mm.
Same performing compound as the slick racing tyres.

TYROO4R
slick racing rear tyres 10.8 x 19 mm.

TYROOSR
slick ext. racing rear tyres 10.8 x 19 mm.
special for low grip track

INOO1C
Lola T70 MKIIl wheel inserts with three pole knok.

INOO1S
Lola T70 spyder wheel inserts.



N N NN Y

N NS N R N/

BRAOO1CO
copper braid (1m.).

BRAOO2CO
copper braids (10 pcs.).

BRAOO3SIL
silver plated braid (1m.).

BRAOO4SIL
silver plated braids (10 pcs.).

GUOO1
guide flag with screw 2 x 8 mm.



N N NN Y

N7 N N N /

LWOO1
silicon lead wire 1m.

CLWOO1
cut silicon lead wires with eyelets
(5 pcs wires 10 cm, 5 pcs wires 12 cm, 10 eyelets)

EYEOO1
eyelet set 10 pcs.

FIXKOO1

pods for motor mount and chassis kit

(4 pods, 5 torx screws1.8 x 8 mm.).

It is the standard outfit on the classic cars.

SUSKO003
complete suspension kit
(4 pods, 5 springs, 5 torx screw 1.8 x 12 mm.).



N N NN Y

N7 NS N N N

SUSKO0O04
complete sponge suspension kit
(4 supports 5 sponge rings 5 screws 1.8 x 12 mm.)

SSKOO0S5
set 10 sponge rings for suspension.

SSKOO6M
set of 10 pieces medium springs suspension.

SCROO1TX

set of 10 pieces of modern and light torx T6 metric
screws 1.8 x 8 mm. To be used to fix the body and
the motor mount.

SCROO02TX

set of 10 pieces of modern and light torx T6 longer
screws 1.8 x 12 mm.

To be used for the suspension option.



N N NN Y

N7 NS N N N

SC4.40HEX
hexagonal screws 4/40" for rims and gear (10 pcs.)

SC2.5HEX
hexagonal screws M 2.5 for front
axle & body setting, rims and gear (10 pcs.).

SCO003X
cross head metric screws 2 x 8mm. (10 pcs.)
To be used on the guide.

SC004X
cross head metric screws 2 x3 mm. (10 pcs.).
To be used to fix the motor to its mount.

WASOO1
nylon spacers 1mm.(10 pcs.).



WASO0O02
nylon washers 0.5mm. (10 pcs.)

WDBOXO1
display case

MGOO1neo
neodimum magnet 15x5x3 mm.

SKIRT
thunderslot banner skirt
(price to linear meter)



